=LPDB

*UXSD S5R]NiDG D/ & 7\J
NI 7N 7N
GHPLQDUXP G\SIRPRZH 3(\ZDQH DE Gl
o GHPLQDUXP G\SRPRZH GUKDE SWRI 8- = aVIN = RINQD -DQXV] 63
® GUKDE SIRI 8- = aVIN -DFHN $ 7/ YA
-DFHN 3 =/ : =N ]DICFD WDZID
R 6HP 3Rl -DFHN = gVIN PO
GHP 3Rl -DFHN = aVIN
7N 7N 7N
36z Z )/
‘ SQURSRPRIRIND Z  GU 6SUDZQRGU VSHFIDIQD Z
! ( u
- Nl SUDNAN. KDE SIRI 8- *DENG VIXTEDFK PXQGXUIRZAFK
Z 7RPDV] =DICFID RQ 0lQH = GUKDE SIRI 8-=
= YRS *DENG 7RPDV] 7\J
N ZIN\J  IDICFID WZDig _QV&UFDD;NSU?\JS‘
Plo =DICFLD RQ (LQH
)/ -
- INJRGQIX  DICFID
ZDig  PLOXI
7N 7N 7N 7N
—e=<., z)/ 3/\ZDQH DE Gl
a ; ‘ GHPLQDUXP G\SIRPRZH GHPLQDUXP G\SIRPRZH = RINQD -DQXV] 63
Q ] SUDNAN. GUKDE SIRI 8-" GUKDE SIRI 8-* YA
= ODUJHF $SINDGLXV] $ ODUJHF $INDGLXV] $
¢ - z D/ z
6HP 3Rl SUNDGLXV] 6HP 3Rl SUNDGLXV]
ODUJHF ODUJHF
g 7N I 7nJ 7\6]
36: Z 7/ 6SHF QDXF] (PLVID
NGl SUDNIANL 6HPLQDUXP G\SRPRZH |||6SHF QDXF] - XUIXUD 6SHF QDXF] (PLVID JIRVX GU /DQILHU
GUKDE SIRI 8-= =aVIN || [IE]\ND GID QDXF\FIHL GU JRVX_1RZRUNQ &HF\ID =% )
-DFHN $ =)/ |||6NRFI\IDV - URID (G\ID 6iDZIEVND $QQD =% / - 8&.81$/
- - )/ - N/ - (* 8&.81%/ (G
~ - 88.81%/ .-1 8&.818/ (* /
6HP SWRI -DFHN VN ||| ge g 15/ -1/ 8&.818/ (*/
JU ]IRGQH ] JDSVDPL JU ]IRGQH ] JDSVDPL ™
Z 8626 Z 8626
6SHF QDXF] (PLID
7\6] JRVX GU /DQILHY
‘ &HRAID = =)
HF QDXF] . XOXUD
z BSHE QDXF] . XIXID 7al /- 8&.81$/
T IET\ND GID QDXFJ\FIHL GU . gy B8
= /DQIIHU &HF\ID =% 6SHF /( &-8 1% (
o )/ = QDXF]
N 8&.81%$/ .-1 (PWiD JU JIRGQIH ] IDSIVDPL
I 8&.81%/ .-1/ JiRVX 1RZ Z 8626
JU JJRGQH ] ZSWDPLZ RINQ
8626 6DZIEVND
$QQD =%
7N Ny
-"8&.8
6SHF QDXF] . XIIXUD 1%/
IGT\ND GID QDXFI\FIHL GU ~ 8e.8
/DQJIHU &HF\ID™ = 15/
)/ - 8&.8 7/
1$/° .-18&.81%
/ -1/ N
1IRGQH ]
JU JIRGQIH ] ]DSLVDPL 1psivbPL Z
Z 8626 8626




=LPDB

*UXSD S5R]NiDG D/ & 7\J

7\6] 7\6] 7\G]
6SHF 6SHF 6SHF
QDXF] QDXF] QDXF]
- XUXUD - XUXUD (PWiD
ICT\ND GID ICT\ND GID JiRVX Gl
QDXF]\FLHIL QDXF]\FLHIL /DQJIHY
Gl Gl &HF\ID

=z 6NRF]\IDV /DQJIHU E

< - URID &HF\ID : D/

a (G\ID = =% -

N 8&.8

— 7/ 7/ 1$/

[ - 8&.8 - 8&.8 >
1%/ 1%/ 8&.8
-1 -1 1$/
8&.8 1% 8&.8 1% 7/
/  .-1 /.-l M
/ / 1IRGQH ]
J J 1DSWVDPL
JIRGQH ] JIRGQH ] 78626
1psvoPL Z 1psvoPL Z
8626 8626

=

™

o4

©

3




